[ Efficiency vs vertpos |

—_

20.18
‘g o
2 0.16F
O -
§0.14f
[ o
£0.12F

Efficiend

N
—
o
()
>

[
>
>

2
£$0.07

e
=
)

0.04

0.2

...............................

TN T et
:l::ﬁ::{:@iﬁ%ﬂ;@j@:::::::::::

2 10 1 10 0?
TP vertr (cr%)

CMSSW

— DQ v_UUUUI_RUUUUUUUUI_G oﬁa_ |
—— DOM_V0001-R000000001Global_—_mkFitOrig
—— DQM_V0001_R000000001_Global _mkFitNew__RECO

— — DOM_V0001_R000000001 _Global _mkFitNew05__RECO

RECO
inal

RECO

0.1
0.09
0.08

0.06
0.05]

0.03
0.02
0.0

|
W
o

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N

>
50.045

£
n

9.035
>

[S]
c
()

2.025

[}

0.015

0.005

Ratio

0.05

0.04

0.03

0.02

0.0

10
1.1

1

o
©

2.
T

10 15 20
Sim. PV z (cm)

= ||||:




	Contents
	Page 1


